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Name: __________________________________



1
If the graph of the equation [image: image1.png]


 is reflected in the line [image: image2.png]


, the equation of the image is

2
Which equation is the inverse of [image: image3.png]


?

3
What is the inverse of [image: image4.png](o) :%x



?

4
Which is an equation of the inverse of [image: image5.png]


?

5
What is the inverse of the function [image: image6.png]3x+2




?

6
If a function is defined by the equation [image: image7.png]3x+2




, which equation defines the inverse of this function?

7
A function is defined by the equation [image: image8.png]


.  Which equation defines the inverse of this function?

8
What is the inverse of the function [image: image9.png]


?

9
What is the inverse of the function [image: image10.png]


?

10
What is an equation of the line formed when the line [image: image11.png]3x+1




 is reflected in the line [image: image12.png]


?

11
What is the inverse of the function [image: image13.png]2x+3




?

12
What is the inverse of the function [image: image14.png]4x+5




?

13
If [image: image15.png]


, then the inverse function [image: image16.png]Fat
(x)



 is

14
What equation is the inverse of [image: image17.png]13x+2




?

15
The inverse of the function [image: image18.png]2x+ 3y



 is

16
The inverse of the function [image: image19.png]


 is

17
What is the inverse of the function [image: image20.png]


?

18
If [image: image21.png]1
A= 3x+2



, then the inverse function is

19
Given [image: image22.png]1
fi= 35+



, which equation represents the inverse, [image: image23.png]a(x)



?

20
A function is defined by the equation [image: image24.png]


.  Which equation defines the inverse of this function?

21
What is the inverse of [image: image25.png]


?

22
The inverse of [image: image26.png]o) = -6+ 4



 is

23
Given [image: image27.png]2
A==z +4



, which statement is true of the inverse function [image: image28.png]74
(x)



?

	1)
	[image: image29.png]74
(x)



 is a line with slope [image: image30.png]


.

	2)
	[image: image31.png]74
(x)



 is a line with slope [image: image32.png]


.

	3)
	[image: image33.png]74
(x)



 passes through the point [image: image34.png]


.

	4)
	[image: image35.png]74
(x)



 has a y-intercept at [image: image36.png]


.



24
Given [image: image37.png]ol
-2
ZX+Z



, which equation represents [image: image38.png]


?

25
Given the inverse function [image: image39.png]ol
-1

It

I



, which function represents [image: image40.png]


?


1
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[image: image41.png]
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2
ANS:


[image: image42.png]
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REF:
088432siii

4
ANS:


[image: image44.png]
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5
ANS:


[image: image45.png]3y+2
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6
ANS:
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[image: image47.png]
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7
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8
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9
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10
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11
ANS:
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12
ANS:
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13
ANS:
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14
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15
ANS:
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16
ANS:


[image: image61.png]
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19
ANS:


[image: image65.png]g(x) = 2x- 16




[image: image66.png]
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20
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ANS:
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3

[image: image74.png]St=-2y+20
2y ==5x+20

5
y=-3x+10




  [image: image75.png]©+10=-5




REF:
082223aii

24
ANS:


[image: image76.png]4
) =-3x+3




[image: image77.png]x

3

Fy+2
~4x=3y-8

—4x+8=y

xedo
s




REF:
061616aii

25
ANS:


[image: image78.png]A2) =

EP




[image: image79.png]P
T3t

fr=dy+1
dy = 6x-1

v




REF:
062321aii
